

Revelry Event Designers 3604 Medford St. Los Angeles, CA 90063 (323) 263-1657

03/12/2025 09:00 AM | Installation Day 1 03/13/2025 09:00 AM | Install Day 2 03/14/2025 09:00 AM | Install Day 3 03/15/2025 09:00 AM | Event Date 03/15/2025 09:00 AM | install day 4 03/16/2025 09:00 AM | Strike - PO: Shipping Address: NYA East and west

IN-0007558

Mindy Weiss 942 S. Detroit Street Los Angeles, CA 90036

Invoice Date: Due Date: Upon Receipt

Salesperson: Romina Manolio

| Description | | Qtty | Price | | Total |
|------------------|--|------|--------------------|-------|------------|
| Ceremony : | | | | | |
| | Tech Drape Tamara Velvet | 1 | \$0.00 | Т | \$0.00 |
| | Metal Rods for Ceremony Drape Paint in OFF WHITE | 1 | \$0.00 | Т | \$0.00 |
| | Custom Made Fabric Treatment to Create Backdrop for Ceremony Fabric Treatment to create wall Fabric installation Sikis Blue - Oyster - Antique Linen Look - Sunset and Pumpkin | 1 | \$3,000.00 | Т | \$3,000.00 |
| | | | Total Ceremo | ny : | \$3,000.00 |
| Walk to Cocktail | | | | | |
| | Coffee Tables - Toronto - Rectangular Wood Top Painted in Off white 73 with Details in M190-6 Before Winter &True Copper Code S180-7 36"W x 22"L x 17"H - Frame Color & Top Upon Request | 1 | \$0.00 | Т | \$0.00 |
| | Garden Sofas - Shakespeare Garden - Metal Painted inPainted in Off white 73 with Details in M190-6 Before Winter &True Copper Code S180-7 79"W x 33"L x 31â 🛛 H | 1 | \$0.00 | Т | \$0.00 |
| | Custom Made Cushions in Sunset Colors Cushions in Monaco - Saffron with Piping in Monaco - Turmeric | 1 | \$175.00 | Т | \$175.00 |
| | Custom Mix and Match Sunset Color Pillows Turmeric (Monaco) & Tamara (Como velvet) | 6 | \$10.00 | Т | \$60.00 |
| | Custom Made FITTED Table cloth For stand up table 36"x 40" Table from T&C FAbric Ivory Dupioni 2002 - Painted Off white 73 with Details in M190-6 Before Winter &True Copper Code S180-7 | 4 | \$20.00 | Т | \$80.00 |
| | | | Total Walk to Cock | ctail | \$315.00 |
| Cocktail Drape | | | | | |
| | Fabric Treatment for a 12'x27' x 10'H In stock Tamara Como with Two Tone Chiffon w/ Backing Ceiling to have an Outdoor Ceiling Cap- pleated Walls on the outside and valance Ceiling Inside and Walls with Valance on the Inside | 1 | \$0.00 | Т | \$0.00 |

| Description | | Qtty | Price | | Total |
|------------------|---|------|------------------|------|------------|
| | Fabric Treatment for a 50'x 85' x 10'H in Stock Tamara Como Velvet with Two Tone Chiffon Ceiling Mat | 1 | \$0.00 | Т | \$0.00 |
| | Entrance Pullbacks and Valance - Kitchen access and Main entrance access Tiebacks | | | | |
| | Awning For entrance Tent 12'w x 30"H | 1 | \$0.00 | Т | \$0.0 |
| | Tamara Como Velvet with scalloped edge with ivory velvet trim | | | | |
| | Panel covered in Tamara Velvet | 2 | \$0.00 | Т | \$0.00 |
| | 2' x 10'H - Front and Sides Covered in Tamara Como Velvet | | | | |
| | | Т | otal Cocktail D | rape | \$0.00 |
| Cocktails Linens | | | | | |
| | Custom Made FITTED Linen for Mezze station 8'x40"x30"H Ivory Dupioni Hand-painted Details in M190-6 Before Winter & PPU3-01 Morrocan Sky | 2 | \$60.00 | Т | \$120.00 |
| | Custom Made FITTED Linens for Sushi Station 2 - front 8'x40"x40"H 2 Small Back Linens 8'x 24"x30" Ivory Dupioni 2002 Hand painted details in M190-6 Before Winter & True Copper | 4 | \$60.00 | Т | \$240.00 |
| | Custom Made FITTED Table Cloth for Stand up table T&C Tables 36"x40"H Ivory Dupioni Hand Painted M190-6 Before Winter & True Copper | 5 | \$20.00 | Т | \$100.00 |
| | Custom Made FITTED Table Cloth MeatIball Station T&C Tables 4'x30"x30" IN Ivory Dupioni with hand painted details M190-6 Before Winter & true Copper | 1 | \$0.00 | Т | \$0.00 |
| | Mix and Match Pillows in Sunset Colors In Saffron Monaco - Turmeric Monaco - Rust Como - Tamara Como | 40 | \$10.00 | Т | \$400.00 |
| | | Tot | al Cocktails Lir | nens | \$860.00 |
| Cocktail Frunitu | e | | | | |
| | Garden Club & Lounge Chairs - Shakespeare Garden - Metal Painted in Off white 73 with Details in M190-6 Before Winter &True Copper Code S180-7 24"W x 28"L x 36âl II H | 4 | \$0.00 | Т | \$0.00 |
| | Custom Made Cushion Covers for Shakespeare Garden Metal in sunset Colors Saffron Monaco with Details in Turmeric Como | 4 | \$50.00 | Т | \$200.00 |
| | Garden Sofas - Sofa With Awning Painted in Off white 73 with Details in M190-6 Before Winter &True Copper Code S180-7 78 1/4"L x 32"W x 85 3/4"H | 4 | \$0.00 | Т | \$0.00 |
| | Custom Made Cushions And Awning Saffron Monaco with Details in Turmeric Como- Base Cushion with piping - bolsters With Piping and Awning with Scallop | 4 | \$450.00 | Т | \$1,800.00 |
| O O | Garden Sofas - Dahlia Gardens - Inverted Sofa 2 half only Painted in Off white 73 with Details in M190-6 Before Winter &True Copper Code S180-7 70"W x 23"L x 41"H - Custom Frame & Cushion Color Upon Request | 2 | \$0.00 | Т | \$0.00 |

| Description | | Qtty | Price | | Total |
|---------------|--|------|-------------------|------|------------|
| | Custom made Covers for Sodas Dahlia Gardens Saffron Como with Details in Turmeric Como base Cushion and Back Rest all With Piping | 2 | \$120.00 | Т | \$240.00 |
| | Garden Accent & Coffee Table - Dahlia Gardens - Coffee Table Oval | 12 | \$20.00 | Т | \$240.00 |
|) + + - (| Custom Wood Top / Painted in Off white 73 with Details in M190-6 Before Winter &True Copper Code S180-7 18"W x 36"H - Frame Color Upon Request | | | | |
| A | Garden Accent & Coffee Table - Dahlia Gardens - Accent Custom Wood Top Painted in Off white 73 with Details in M190-6 Before Winter &True Copper Code S180-7 20"RND x 20"H - Frame Color Upon Request | 8 | \$10.00 | Т | \$80.00 |
| STA. | Garden Bistro & Stand Up Tables - Descanso Gardens - Bistro Painted in Off white 73 with Details in M190-6 Before Winter &True Copper Code S180-7 42"Diam x 29 1/2"H - Frame Color Upon Request | 4 | \$165.00 | Т | \$660.00 |
| | Garden Dining Chair - Giardino Dell' Iris - Chair Painted Off white 73 with Details in M190-6 Before Winter &True Copper Code S180-7 23"W x 22"L x 41"H - Custom Frame & Cushion Color Upon Request | 20 | \$0.00 | Т | \$0.00 |
| | Custom Made Cushions for Dining Chairs Giradino Dell' Iris Covers in Monaco Saffron | 20 | \$10.00 | Т | \$200.00 |
| | | Tota | al Cocktail Fruni | ture | \$3,420.00 |
| Cocktail Bars | | | | | |
| | Central Bar Hand Painted To look as furniture Pieces 7-8' Bars 1-12 Bar New 4-30"x30" Pedestals All Painted in Off white 73 with Details in M190-6 Before Winter &True Copper Code S180-7 | 1 | \$0.00 | Т | \$0.00 |
| | Custom Made Barback 14' L x 3'5"D - overall Height 10'H Base Counter 14' x 3'5" W x 36"H Upper Shelves units Double sided 12'x 7'H painted in Off white 73 with Details in M190-6 Before Winter &True Copper Code S180 | 1 | \$0.00 | Т | \$0.00 |
| | Person Cut Out emitated a Bar tender as on Movie Painted in Off white 73 with Details in M190-6 Before Winter & True Copper Code S180-7 | 2 | \$0.00 | Т | \$0.00 |
| | Oversize Props - Laser Cut Tree W/ Stand 02 - 7'h Painted in Off white 73 with Details in M190-6 Before Winter &True Copper Code S180-7 Bases to make them Taller - 2'H 7'1/2W x 7'1/2H - (1) Left (1) Right | 2 | \$0.00 | Т | \$0.00 |
| | Oversize Props - Laser Cut Tree W/ Stand 01 - 7'h | 2 | \$0.00 | т | \$0.00 |
| | Painted in Off white 73 with Details in M190-6 Before Winter & True Copper Code S180-7 | Z | Ş0.00 | | ŞU.UU |
| | Bases to make them Taller - 2'H | | | | |
| | •• | | | | |

| Description | | Qtty | Price | | Total |
|-------------------|--|------|--------------------|------|-------------|
| | Oversize Props - Laser Cut Tree W/ Stand - 6'h Painted in Off white 73 with Details in M190-6 Before Winter &True Copper Code S180-7 Basses to make them taller - 2'H 6'1/2W x 6'H - (2) Left (2) Right | 4 | \$0.00 | Т | \$0.00 |
| | | | Total Cocktail B | ars | \$0.00 |
| Cocktail Lighting | g | | | | |
| | Mix and match Shades - Existing 20 in Tamara - 20 in rust with Lightbulbs | 40 | \$0.00 | Т | \$0.00 |
| | | То | tal Cocktail Light | ting | \$0.00 |
| The Lounge | | | | | |
| | FAbric Treatment to Cover (The Lounge) Blocking View for Guest into the Bar, used for Staff 85'x 12'H Pipe and base in Ivory or Off White velvet - Can't be Translucent | 1 | \$0.00 | Т | \$0.00 |
| | | | Total The Lou | nge | \$0.00 |
| Reception Fabri | C | | | | |
| | Fabric for Tech booth 10'x10' x 40'H | 1 | \$0.00 | Т | \$0.00 |
| | FAbric Treatment. to Cover Reception area in Stock Green Velvet 650'x 19'H | 1 | \$0.00 | Т | \$0.00 |
| | Custom Made Stage Back Drop Different Height Drapes we will need PVC Pipes to hang From Ceiling Diff. layers to Create a Scalloped effect : 1st Line 100' x 10'H 2nd Line 100' x 8'H 3rd Line 100' x 6'H 4th Line 100' x 4'H 5th Line 100' x 2'H | 1 | \$2,500.00 | Т | \$2,500.00 |
| | | То | tal Reception Fal | bric | \$2,500.00 |
| Reception Custo | om Lighting and Panels | | | | |
| | Custom Made stage Front Matching Panels 1-36'x 14"H 1- 8' x 14"H 1-18'x14"H | 1 | \$1,500.00 | Т | \$1,500.00 |
| | Custom Made Panels For Behind Booth 36'x 13'2" H To Seat Over the Booth This to have installation off wall paper (MWPC to Provide) painted painted in Coffee Beans with hand painted wash to imitate wood and molding frame | 2 | \$1,200.00 | Т | \$2,400.00 |
| | Custom Made Sconces for panels Matching Fabric Ivory on as on Lighting Fixtures | 4 | \$70.00 | Т | \$280.00 |
| | Custom Made Chandeliers 18 - 48" - 18- 36" | 36 | \$500.00 | Т | \$18,000.00 |
| | Custom Made Half Round Printed FAbric Shadow Boxes 12' x 16'6"H | 3 | \$6,200.00 | Т | \$18,600.00 |
| | Custom Made Half Round Shadow Boxes 6'x 16'6" | 2 | \$3,100.00 | Т | \$6,200.00 |
| | Two Tone Chiffon Olive Green | 1 | \$0.00 | Т | \$0.00 |
| | 23 rolls - send 22 metal grids - and sewing machine + thread | | | | |

| Description | | Qtty | Price | | Total |
|-------------------------|---|------|-------------------|------|------------|
| Reception Bars | | | | | |
| | Custom Made Sconces for Barbacks matching Chandeliers 8"x 36"H inlvory Dupiony 2002 with Black trim | 10 | \$0.00 | Т | \$0.00 |
| | Using Existing bars - Re build them to have Fabric Front 25' Use (2) 10' Frames and (1) 5' Frame to create bar Fronts in Stripe Fabric - add batting - W/ Gold Footrest Wood Top painted in coffee Beans with wash to emulate wood finish | 1 | \$500.00 | Т | \$500.00 |
| | Using Existing Bars - Re build them to have have Fabric Fronts 10' Use (2) 10' Frames to create bar Fronts in Stripe Fabric - add batting - W/ Gold Footrest Wood Top painted in Coffee Beans with wash to emulate wood finish | 2 | \$250.00 | Т | \$500.00 |
| | Barbacks 8' x 10' New - To Have Inserts | 5 | \$0.00 | т | \$0.00 |
| | Painted in Coffee Beans with Hand painted Wash to emulate wood finish and Inserts in Stripe Fabric | | | | |
| | | | Total Reception I | Bars | \$1,000.00 |
| Reception Furnit | ure | | | | |
| | Custom Made Cake Table with Stripe Fabric if Fabric Left 48" Round | 1 | \$0.00 | Т | \$0.00 |
| | Panels - Seating Escort Card - Freestanding - Multicolor Painted in TBD PAINT with Hand painted Wash to emulate wood finish 8' x 8'H | 1 | \$0.00 | Т | \$0.00 |
| | Club & Lounge Chairs - Budapest - Armchair Green Velvet & Burlap | 2 | \$0.00 | Т | \$0.00 |
| 1 1 | 28"W X 33"L X 39"H | | | | |
| | Club & Lounge Chairs - Budapest - Club Chair Green Velvet 29"W x 29"L x 28"H | 2 | \$0.00 | Т | \$0.00 |
| F | Club & Lounge Chairs - Budapest - Accent Chair Green Velvet 18"W x 21"L x 34"H | 2 | \$0.00 | Т | \$0.00 |
| 1. | Coffee Tables - Budapest - Wood | 1 | \$0.00 | т | \$0.00 |
| 1 | 34"W x 29"D x 18"H | | Ş0.00 | · | Ş0.00 |
| | Coffee Tables - Budapest - Carved Wood | 1 | \$0.00 | т | \$0.00 |
| 111 | 40 â ⊠ â ‰ 12X 122/1 â ⊠ â ‰ XX 128 â ⊠ â ⊠ A H | | | | |
| | Budapest - Green with Frindge | 4 | \$0.00 | Т | \$0.00 |
| | Custom Made Head Table Custom Curved 19 x 48" Wood top, and Custom Linens with Theoni Dupioni Fabric | 1 | \$800.00 | Т | \$800.00 |

| Description | | Qtty | Price | | Total |
|-----------------|---|---------------------------|------------|------|-------------|
| | Custom made Serp Table Custom Linens with Theoni Dupioni Fabric | 2 | \$800.00 | Т | \$1,600.00 |
| | Custom Made Pillows in Stripe Fabric For Booth 24 - 20"x20" Stripe with Piping 6 Kidney Stripe with Piping | 30 | \$10.00 | Т | \$300.00 |
| | Custom Made Stripe Table Cloth 72" Round x 30"H | 6 | \$150.00 | Т | \$900.00 |
| | Buffet And Display Tables - Oval - Multicolor 12'W x 48"D x 30"H - Can be custom painted or base covered in fabric | 4 | \$0.00 | Т | \$0.00 |
| | Custom Made Table Cloth in Ivory Linen with Stripe Pleat and Piping 12'x 48"x30"H | 4 | \$250.00 | Т | \$1,000.00 |
| | Underlay for oval table | 4 | \$0.00 | Т | \$0.00 |
| | Booths - Monaco - Round White Velvet 2pc Set 6⤠¤ 10"₩3⤠¤ 2½3⤠¤ 3"H | 6 | \$0.00 | Т | \$0.00 |
| | Custom Made Booth Cover for 6 sets Ivory Velvet Como | 6 | \$400.00 | Т | \$2,400.00 |
| | Custom Made wood Boxes for Booth Painted in Dark wood Matching Panels Around the Room Cost to make is \$3000 | 6 | \$1,500.00 | Т | \$9,000.00 |
| | Console Tables - Buenos Aires - Clear 6'W x 18"L x 36" H | 4 | \$0.00 | Т | \$0.00 |
| | | Total Reception Furniture | | ture | \$16,000.00 |
| Restroom furnit | ure | | | | |
| | Console Tables - Oval Antique Brass 1 for inside mans 1 for Inside woman 1 For outside or Bride Restroom 48.5" x 15" x 32"H | 4 | \$0.00 | Т | \$0.00 |
| | Wall Mirrors - Milan - Wall Mirror Frame painted in Coffee Beans - Wood Color matching the rest of the Wood at the event 37"W x 75"H - Custom Frame Color Upon Request | 3 | \$0.00 | Т | \$0.00 |
| | Club & Lounge Chairs - Budapest - Armchair Green Velvet 38"W x 40"L x 36"H | 2 | \$0.00 | Т | \$0.00 |
| | Club & Lounge Chairs - Budapest - Armchair Yellow Velvet 02 | 1 | \$0.00 | Т | \$0.00 |
| | 28"W X 39"L X 34"H | | | | |

| Description | | Qtty | Price | | Total |
|-------------|---|-------|---------------|-------|--------|
| | Area Rugs - Cotton Chenille Distressed Print Rug W/ Fringe 5' x 7' | 2 | \$0.00 | Т | \$0.00 |
| | Accent Table - Boston - Granite Round 14"Diam x 22"H | 2 | \$0.00 | т | \$0.00 |
| | | Total | Restroom furn | iture | \$0.00 |
| after Party | | | | | |
| T I | Coffee Tables - Paris - Gold 36"W x 21"W x 17"h | 4 | \$0.00 | Т | \$0.00 |
| | Stand Up Tables - Tulip Base - Multicolor Painted in Brass 32" Diam x 41"H | 4 | \$0.00 | Т | \$0.00 |
| | Barback - Tokyo - Straight Basic 8' X 8'7"h - Metal Painted in Off Broadway 8'W x 18"L x 8'7"H - Frame Color Upon Request | 3 | \$0.00 | Т | \$0.00 |
| | Accent Table - London - Antique Gold Hourglass Table Large 18"Diam x 25.5"H | 4 | \$0.00 | т | \$0.00 |
| | Accent Table - London - Antique Gold Hourglass Small 18"Diam x 18"H | 4 | \$0.00 | Т | \$0.00 |
| | Small Dining Tables - Antique Brass Round 40"Diam x 30"H | 4 | \$0.00 | Т | \$0.00 |
| | Dining Chairs - Antique Brass Finish Metal Wishbone Cushion in Custom Color - Como Velvet Olive 18" x 18" x 31.5"H | 16 | \$0.00 | т | \$0.00 |
| | Mix and Match Pillows in Stock | 30 | \$0.00 | Т | \$0.00 |
| | Dj Booths - Santa Barbara - Moulding - Multicolor Paintend in Off Broadway 47"W x 25"D x 48"H | 1 | \$0.00 | Т | \$0.00 |
| | Sofas - Venice - Green Velvet 3 7'W x 33"L x 38"h | 1 | \$0.00 | Т | \$0.00 |
| | Sofas - Venice - Green Velvet 4 8'W x 33"L x 36"h | 2 | \$0.00 | Т | \$0.00 |
| | Coffee Tables - Bucharest - Brass & Mirror 44.5"W x 24.75"D x 20.5"H | 3 | \$0.00 | Т | \$0.00 |

| Description | | Qtty | Price | | Total |
|-------------|--|--|---|------|---|
| | Club & Lounge Chairs - Toulouse - Accent Chair - Green Velvet | 2 | \$0.00 | Т | \$0.00 |
| | 29"W x 30"L x 37"H | | | | |
| | Club & Lounge Chairs - Toulouse - Accent Chair - Green Velvet 1 | 1 | \$0.00 | Т | \$0.00 |
| | 28"W x 34"L x 39"H | | | | |
| | Club & Lounge Chairs - Toulouse - Accent Chair - Green Velvet 2 | 1 | \$0.00 | Т | \$0.00 |
| | 28â⊠ ⊠ ₩28â⊠ ⊠ ±37â⊠ ⊠ H | | | | |
| | Club & Lounge Chairs - Toulouse - Club Chair - Green Velvet 1 | 1 | \$0.00 | Т | \$0.00 |
| | 30"W x 28"L x 38"H | | | | |
| | Club & Lounge Chairs - Toulouse - Club Chair - Green Velvet 2 | 1 | \$0.00 | Т | \$0.00 |
| | 30"W x 28"L x 36"H | | | | |
| | Club & Lounge Chairs - Venice Arm Chair Green Velvet 4 | 2 | \$0.00 | Т | \$0.00 |
| | 32ân 🛛 ân 🛚 XX22ân 🛛 ân X 49ân 🛛 ân 🕅 H | | | | |
| | Club & Lounge Chairs - Venice Arm Chair Green Velvet 3 | 2 | \$0.00 | Т | \$0.00 |
| | 32"W x 33"L x 44"H | | | | |
| | Bars - Santa Barbara - Square Molding 8' Painted in Off Broadway - Add Rings 8'x 30"x 42"H | 4 | \$0.00 | Т | \$0.00 |
| | | | Total after Pa | arty | \$0.00 |
| Services | | | | | |
| | installation Day 1 | 12 | \$600.00 | | \$7,200.00 |
| | | | | | <i></i> , |
| | installation day 2 | 12 | \$600.00 | | \$7,200.00 |
| | installation day 2 Installation Day 3 | 12 12 | \$600.00 \$600.00 | | \$7,200.00 |
| | | | | | |
| | Installation Day 3 | 12 | \$600.00 | | \$7,200.00 \$7,200.00 \$2,700.00 |
| | Installation Day 3 Change Over Crew | 12 6 | \$600.00 \$450.00 | | \$7,200.00 \$7,200.00 \$2,700.00 \$8,400.00 |
| | Installation Day 3 Change Over Crew Strike Team | 12 6 14 | \$600.00 \$450.00 \$600.00 | | \$7,200.00 \$7,200.00 \$2,700.00 \$8,400.00 \$0.00 |
| | Installation Day 3 Change Over Crew Strike Team Transportation | 12 6 14 4 | \$600.00 \$450.00 \$600.00 \$0.00 | | \$7,200.00 \$7,200.00 \$2,700.00 \$8,400.00 \$0.00 \$2,500.00 |
| | Installation Day 3 Change Over Crew Strike Team Transportation Flame Proofing Artist- this price will be adjusted once we finalized | 12 6 14 4 1 | \$600.00 \$450.00 \$600.00 \$0.00 \$2,500.00 | | \$7,200.00 \$7,200.00 \$2,700.00 \$8,400.00 \$0.00 \$2,500.00 \$7,500.00 |
| | Installation Day 3Change Over CrewStrike TeamTransportationFlame ProofingArtist- this price will be adjusted once we finalized details (2 artist painting for a WeekPre Production- Painting - Pulling Furniture & Prep | 12 6 14 4 1 1 | \$600.00 \$450.00 \$600.00 \$0.00 \$2,500.00 \$7,500.00 | | \$7,200.00 \$7,200.00 |
| | Installation Day 3Change Over CrewStrike TeamTransportationFlame ProofingArtist- this price will be adjusted once we finalized details (2 artist painting for a WeekPre Production- Painting - Pulling Furniture & Prep Fabric Loading Trucks, etc | 12 6 14 4 1 1 1 | \$600.00 \$450.00 \$600.00 \$0.00 \$2,500.00 \$7,500.00 \$40,000.00 | | \$7,200.00 \$7,200.00 \$2,700.00 \$8,400.00 \$0.00 \$2,500.00 \$7,500.00 \$40,000.00 |
| | Installation Day 3Change Over CrewStrike TeamTransportationFlame ProofingArtist- this price will be adjusted once we finalized details (2 artist painting for a WeekPre Production- Painting - Pulling Furniture & Prep Fabric Loading Trucks, etcSocial media to Be on site | 12 6 14 4 1 1 1 1 | \$600.00 \$450.00 \$600.00 \$0.00 \$2,500.00 \$7,500.00 \$40,000.00 \$0.00 | | \$7,200.00 \$7,200.00 \$2,700.00 \$8,400.00 \$0.00 \$2,500.00 \$7,500.00 \$40,000.00 \$0.00 |

 Please make checks payable to Revelry, Inc.
 Total Products

 Note: Prior to deliveries and pick-ups all invoices must be pay in full
 Total Labor/Services/Misc.

 Please ready the contract and sign it
 Wear & Tear (0.00%):

 Notes
 Packing (2.00%):

 Total Products:
 Total Labor/Services/Misc.

 Notes
 Total Cabor/Services/Misc.

 Notes
 Total Cabor/Services/Misc.

 Notes
 Total Cabor/Services/Misc.

 Notes
 Discounts:

 Total Cabor/Services/Misc.
 Total Cabor/Services/Misc.

 Notes
 Total Cabor/Services/Misc.

 Notes
 Discounts:

 Total Cabor/Services/Misc.
 Total Cabor/Services/Misc.

 Packing (2.00%):
 Taxes (tax excempt):

 Discounts:
 Total

 Payments:
 Total

| Total Products: | \$74,075.00 |
|--------------------------|-------------|
| tal Labor/Services/Misc: | \$7,700.00 |
| Wear & Tear (0.00%): | \$0.00 |
| Packing (2.00%): | \$1,475.10 |
| Taxes (tax excempt): | \$0.00 |
| Discounts: | (\$320.00) |
| Total: | \$82,930.10 |
| Payments: | (\$0.00) |
| Balance: | \$82,930.10 |